An approach to generate superextensions of integrable systems

This article has been downloaded from IOPscience. Please scroll down to see the full text article.
1997 J. Phys. A: Math. Gen. 30619
(http://iopscience.iop.org/0305-4470/30/2/023)
View the table of contents for this issue, or go to the journal homepage for more

Download details:
IP Address: 171.66.16.110
The article was downloaded on 02/06/2010 at 06:02

Please note that terms and conditions apply.

# An approach to generate superextensions of integrable systems 

Xing-Biao Hu<br>CCAST (World Laboratory), PO Box 8730, Beijing 100080, People's Republic of China State Key Laboratory of Scientific and Engineering Computing, Institute of Computational Mathematics and Scientific Engineering Computing, Academia Sinca, PO Box 2719, Beijing 100080, People's Republic of China

Received 2 January 1996, in final form 26 September 1996


#### Abstract

An algorithm to generate integrable systems is extended to the super case. Some new examples of superextensions of integrable systems are illustrated. We also generalize the trace identity due to Tu to the super case and use it to establish Hamiltonian structures of superextensions of integrable systems under consideration.


## 1. Introduction

The superintegrable systems in general and the superextensions of the standard integrable systems have been recently investigated. Many papers have been dedicated to the subject (see, e.g. [1-8]). For the famous KdV equation, two kinds of extensions are well known: one is the so-called supersymmetric KdV equation derived by Manin and Radul [2]; the other is the Kupershmidt's version [3]. On the other hand, there has been active research on searching for integrable systems based on Lie algebras and Kac-Moody algebras and different methods have been constructed (see, e.g., [9-15]). Furthermore, some of the results are extended to include Lie superalgebra (see, e.g., [4-7]). In [16], we have developed Tu's approach, and an effective algorithm to generate integrable systems is given. In this paper, we generalize the results of [16] to the superextension case. Besides, the so-called Trace identity to Hamiltonian structures of integrable systems [17-20] is also extended to the super case.

This paper is arranged as follows. In the next section, we first introduce some notations and conventions. A simple scheme to generate superextensions of integrable systems is described and an illustrative example is given in detail. Some other interesting examples are considered in section 3 . In section 4, we give some examples to show that a hierarchy of equations connected with (1) could also be derived in some special cases although $e_{0}(\lambda)$ is not so-called pseudoregular. In section 5 , the trace identity is generalized to the superextension case and used to establish Hamiltonian structures of superextensions of integrable systems under consideration. Finally, conclusion and remarks are given in section 6.

## 2. A scheme to generate superextensions of integrable systems

Let us begin with the Lie superalgebra $\operatorname{sl}(m / n)$ which is defined as

$$
s l(m / n)=\left\{X=\left(\begin{array}{ll}
A & B \\
C & D
\end{array}\right) ; \operatorname{Str} X=\operatorname{Tr} A-\operatorname{Tr} D=0\right\}
$$

where $A$ is a $(m \times m)$ matrix, $B$ a $(m \times n)$ matrix, $C$ a $(n \times m)$ matrix, and $D$ a $(n \times n)$ matrix. The super Lie bracket is defined as [21,22]

$$
[X, Y]=X Y-(-1)^{P(X) P(Y)} Y X \quad \forall X, Y \in \operatorname{sl}(m / n)
$$

where parity $P(X)$ of $X$ is defined as

$$
P(X)= \begin{cases}0 & X=\left(\begin{array}{cc}
A & 0 \\
0 & D
\end{array}\right) \quad \operatorname{Str} X=0 \\
1 & X=\left(\begin{array}{cc}
0 & B \\
C & 0
\end{array}\right) .\end{cases}
$$

Here $\left(\begin{array}{cc}A & 0 \\ 0 & D\end{array}\right)$ are even (bosonic) elements and $\left(\begin{array}{cc}0 & B \\ C & 0\end{array}\right)$ are odd (fermionic) ones. For $s l(m / n)$, the corresponding superloopalgebra is

$$
G=\operatorname{sl}(m / n) \otimes C\left[\lambda, \lambda^{-1}\right] \quad \lambda \text { is an even parameter. }
$$

The Lie super bracket of $G$ is defined as

$$
\left[X \otimes \lambda^{m}, Y \otimes \lambda^{n}\right] \equiv[X, Y] \otimes \lambda^{m+n}
$$

Different gradations of $G$ may be available. In what follows, we always fix the gradation as a natural gradation, i.e.

$$
\operatorname{deg}\left(X \otimes \lambda^{n}\right)=n \quad \forall X \in \operatorname{sl}(m / n)
$$

We now consider the following spectral problem

$$
\begin{equation*}
\psi_{x}=U \psi \tag{1}
\end{equation*}
$$

where

$$
\psi=\left(\psi_{1}, \ldots, \psi_{m}, \psi_{m+1}, \ldots, \psi_{m+n}\right)^{\mathrm{T}}
$$

$\psi_{i}(i=1, \ldots, m)$ is an even variable, $\psi_{i}(i=m+1, \ldots, m+n)$ is an odd variable, and $U=e_{0}(\lambda)+u_{1} e_{1}(\lambda)+\cdots+u_{p} e_{p}(\lambda)$. Here $e_{i}(\lambda)(i=0,1, \ldots, p) \in G$ and $e_{i}(\lambda)(i=1, \ldots, p)$ is an even or odd element. $u_{i}$ is an even (odd) variable if $e_{i}(\lambda)$ is an even (odd) element. Similar to [14-18], we assume that $e_{i}(\lambda)(i=0, \ldots, p)$ meets the conditions:
(i) $e_{0}(\lambda), e_{1}(\lambda), \ldots, e_{p}(\lambda)$ are linearly independent;
(ii) $e_{0}(\lambda)$ is even and pseudoregular, i.e.

$$
G=\operatorname{Kerad} e_{0}(\lambda) \oplus \operatorname{Imad} e_{0}(\lambda)
$$

$\operatorname{Kerad} e_{0}(\lambda)$ is commutative where

$$
\begin{aligned}
& \text { Kerad } e_{0}(\lambda)=\left\{X \mid X \in G,\left[X, e_{0}(\lambda)\right]=0\right\} \\
& \operatorname{Imad} e_{0}(\lambda)=\left\{Y \in G, \text { s.t. } Y=\left[X, e_{0}(\lambda)\right]\right\}
\end{aligned}
$$

(iii) $d_{0}>0, d_{0}>d_{1} \geqslant d_{2} \geqslant \cdots \geqslant d_{p}$, where $d_{i}=\operatorname{deg} e_{i}(\lambda)$. A simple scheme for generating superextensions of integrable systems can easily be copied from [16-19]. The
scheme contains two steps. First, we take a solution $V=\sum_{i=0}^{\infty} V_{i} \lambda^{-i}$ of the co-adjoint equation associated with (1),

$$
\begin{equation*}
V_{x}=[U, V] \tag{2}
\end{equation*}
$$

Second, we search for a $\Delta_{n} \in G$ such that for

$$
V^{(n)} \equiv\left(\lambda^{n} V\right)_{+}+\Delta_{n}
$$

the following holds:

$$
-V_{x}^{(n)}+\left[U, V^{(n)}\right] \in C e_{1}(\lambda)+C e_{2}(\lambda)+\cdots+C e_{p}(\lambda)
$$

This requirement yields a hierarchy of superextensions of evolution equations:

$$
U_{t}-V_{x}^{(n)}+\left[U, V^{(n)}\right]=0
$$

Here and in the following, we always denote $\left(\lambda^{n} V\right)_{+} \equiv \sum_{i=0}^{n} V_{i} \lambda^{n-i}$. Similar to the proof of proposition 2 in [16] and replacing the second equation of $\left(3^{\prime}\right)$ in [16] with

$$
\left(\operatorname{Str} V^{k}\right)_{x}=0, k=1, \ldots, m+n
$$

we can obtain the following result.
Proposition 1. There exists a non-zero $V=\sum_{i=0}^{\infty} V_{i} \lambda^{-i} \in G$ such that (2) holds and elements of matrix $V_{i}$ are all pure polynomials of $u_{i}(i=1, \ldots, p)$ and their derivatives.

From proposition 1, we deduce that

$$
\begin{equation*}
-\left(\lambda^{n} V\right)_{+x}+\left[U,\left(\lambda^{n} V\right)_{+}\right]=\left(\lambda^{n} V\right)_{-x}-\left[U,\left(\lambda^{n} V\right)_{-}\right] \tag{3}
\end{equation*}
$$

where $\left(\lambda^{n} V\right)_{+} \equiv \sum_{i=0}^{n} V_{i} \lambda^{n-i}$ and $\left(\lambda^{n} V\right)_{-}=\lambda^{n} V-\left(\lambda^{n} V\right)_{+}$. It is easy to see that the terms on the left-hand side of (3) are of degrees not less than $d_{p}^{-} \equiv\left(d_{p}-\left|d_{p}\right|\right) / 2$, while the terms on the right-hand side are of degrees not greater than $d_{0}-1$, therefore the terms on both sides are of degrees ranging over the interval $\delta=\left[d_{p}^{-}, d_{0}-1\right]$. Thus we deduce that

$$
-\left(\lambda^{n} V\right)_{+_{x}}+\left[U,\left(\lambda^{n} V\right)_{+}\right]=\sum_{i \in \delta} f_{i}
$$

for some $f_{i} \in G_{i} \equiv\{x \mid \operatorname{deg} x=i, x \in G\}$. Therefore, when we take $e_{1}(\lambda), \ldots, e_{p}(\lambda)$ as a basis of $\oplus_{i \in \delta} G_{i}$, we could in general derive a hierarchy of integrable equations. In order to reduce the number of potentials, we need to consider the reduced spectral problems of (1) and various subalgebras of $G$. In the following, we give an illustrative example to describe the scheme.
Example 1. Consider the subalgebra $b(0,1)$ of $s l(2 / 1)$. Its basis is

$$
\begin{array}{ll}
E_{0}=\left[\begin{array}{ccc}
1 & 0 & 0 \\
0 & -1 & 0 \\
0 & 0 & 0
\end{array}\right] & E_{1}=\left[\begin{array}{lll}
0 & 1 & 0 \\
0 & 0 & 0 \\
0 & 0 & 0
\end{array}\right]
\end{array} E_{2}=\left[\begin{array}{lll}
0 & 0 & 0 \\
1 & 0 & 0 \\
0 & 0 & 0
\end{array}\right]
$$

where $E_{0}, E_{1}, E_{2}$ are even elements and $E_{3}, E_{4}$ are odd ones. Their non-zero (anti)commutation relations are
$\left[E_{0}, E_{1}\right]=2 E_{1} \quad\left[E_{0}, E_{2}\right]=-2 E_{2} \quad\left[E_{0}, E_{3}\right]=E_{3} \quad\left[E_{0}, E_{4}\right]=-E_{4}$
$\left[E_{1}, E_{2}\right]=E_{0}, \quad\left[E_{1}, E_{4}\right]=E_{3} \quad\left[E_{2}, E_{3}\right]=E_{4} \quad\left[E_{3}, E_{3}\right]=-2 E_{1}$
$\left[E_{3}, E_{4}\right]=E_{0} \quad\left[E_{4}, E_{4}\right]=2 E_{2}$.

Set $G_{1}$ as a linear span of $\left\{E_{0} \otimes \lambda^{d n}, E_{1} \otimes \lambda^{d n+e_{1}}, E_{2} \otimes \lambda^{d n+e_{2}}, E_{3} \otimes \lambda^{d n+e_{3}}, E_{4} \otimes\right.$ $\lambda^{d n+e_{4}} \mid n \in Z, d$ is an integer greater than 1 and $e_{i}$ are integers such that $0 \leqslant e_{i}<d(i=$ $1,2,3)\}$. We can easily verify that $G_{1}$ is a subalgebra of $b(0,1) \otimes C\left[\lambda, \lambda^{-1}\right]$ iff
$e_{1}+e_{2}=0(\bmod d) \quad e_{1}+e_{4}=e_{3}(\bmod d) \quad e_{3}+e_{4}=0(\bmod d)$

$$
\begin{equation*}
2 e_{3}=e_{1}(\bmod d) \quad 2 e_{4}=e_{2}(\bmod d) \tag{4}
\end{equation*}
$$

Here we only consider two cases.
Case I. We have the following solution of (4): $d=2, e_{1}=e_{2}=0, e_{3}=e_{4}=1$. Furthermore, taking $d_{0}=2, d_{p}=0$, and $e_{0}(\lambda)=E_{0} \otimes \lambda^{2}$, we get the following new spectral problem

$$
\psi_{x}=U \psi
$$

where
$U=E_{0} \lambda^{2}+u E_{1}+v E_{2}+w E_{0}+\epsilon E_{3} \lambda+\beta E_{4} \lambda=\left[\begin{array}{ccc}\lambda^{2}+w & u & \lambda \epsilon \\ v & -\lambda^{2}-w & \lambda \beta \\ \lambda \beta & -\lambda \epsilon & 0\end{array}\right]$.
Here $u, v$, and $w$ are even potentials and $\epsilon$ and $\beta$ are odd ones. Set

$$
\begin{aligned}
V=a E_{0}+ & b E_{1}+c E_{2}+d E_{3}+e E_{4}=\left[\begin{array}{ccc}
a & b & d \\
c & -a & e \\
e & -d & 0
\end{array}\right] \\
& =\sum_{n \geqslant 0}\left(a_{n} \lambda^{-2 n} E_{0}+b_{n} \lambda^{-2 n} E_{1}+c_{n} \lambda^{-2 n} E_{2}+d_{n} \lambda^{-2 n-1} E_{3}+e_{n} \lambda^{-2 n-1} E_{4}\right)
\end{aligned}
$$

where $a, b$, and $c$ are even and $d$ and $e$ are odd. From $V_{x}=[U, V]$, we deduce that

$$
\begin{align*}
a_{x} & =u c+\lambda \epsilon e+\lambda \beta d-v b \\
b_{x} & =-2 u a+2 \lambda^{2} b-2 \lambda \epsilon d+2 w b \\
c_{x} & =-2 \lambda^{2} c+2 v a+2 \lambda \beta e-2 w c  \tag{5}\\
d_{x} & =\lambda^{2} d+u e-\lambda \epsilon a-\lambda \beta b+w d \\
e_{x} & =-\lambda^{2} e+\lambda \beta a-\lambda \epsilon c+v d-w e
\end{align*}
$$

or

$$
\begin{align*}
a_{m x} & =u c_{m}+\epsilon e_{m}+\beta d_{m}-v b_{m} \\
b_{m_{x}} & =-2 u a_{m}+2 b_{m+1}-2 \epsilon d_{m}+2 w b_{m} \\
c_{m_{x}} & =-2 c_{m+1}+2 v a_{m}+2 \beta e_{m}-2 w c_{m}  \tag{6}\\
d_{m_{x}} & =d_{m+1}+u e_{m}-\epsilon a_{m+1}-\beta b_{m+1}+w d_{m} \\
e_{m x} & =-e_{m+1}+\beta a_{m+1}-\epsilon c_{m+1}+v d_{m}-w e_{m}
\end{align*}
$$

We now give the first few of $a_{m}, b_{m}, c_{m}, d_{m}$, and $e_{m}$ :

$$
\begin{aligned}
& b_{0}=c_{0}=0 \quad a_{0}=k=\text { constant } \neq 0(k \text { is even }) \\
& d_{0}=k \epsilon \quad e_{0}=k \beta \quad c_{1}=k v \quad b_{1}=k u \quad a_{1}=k \beta \epsilon \\
& d_{1}=k\left(\epsilon_{x}-w \epsilon\right) \quad e_{1}=k\left(-\beta_{x}-w \beta\right) \quad \ldots .
\end{aligned}
$$

In general, we can obtain recursively from (6) all the $a_{m}, b_{m}, c_{m}, d_{m}$, and $e_{m}$. On the other hand, we have

$$
-\left(\lambda^{2 n} V\right)_{+x}+\left[U,\left(\lambda^{2 n} V\right)_{+}\right]=-\left(\begin{array}{ccc}
a_{n} & b_{n} & \lambda d_{n-1} \\
c_{n} & -a_{n} & \lambda e_{n-1} \\
\lambda e_{n-1} & -\lambda d_{n-1} & 0
\end{array}\right)_{x}
$$

$$
\begin{aligned}
& +\left[\left(\begin{array}{ccc}
w & u & \lambda \epsilon \\
v & -w & \lambda \beta \\
\lambda \beta & -\lambda \epsilon & 0
\end{array}\right),\left(\begin{array}{ccc}
a_{n} & b_{n} & 0 \\
c_{n} & -a_{n} & 0 \\
0 & 0 & 0
\end{array}\right)\right] \\
& +\left[\left(\begin{array}{ccc}
w & u & 0 \\
v & -w & 0 \\
0 & 0 & 0
\end{array}\right),\left(\begin{array}{ccc}
0 & 0 & \lambda d_{n-1} \\
0 & 0 & \lambda e_{n-1} \\
\lambda e_{n-1} & -\lambda d_{n-1} & 0
\end{array}\right)\right] .
\end{aligned}
$$

Therefore, we can deduce a hierarchy of equations

$$
\begin{align*}
& u_{t}=b_{n x}+2 u a_{n}-2 w b_{n} \quad v_{t}=c_{n x}-2 v a_{n}+2 w c_{n} \quad w_{t}=a_{n x}-u c_{n}+v b_{n} \\
& \epsilon_{t}=d_{n-1_{x}}-u e_{n-1}+\epsilon a_{n}+\beta b_{n}-w d_{n-1} \quad \beta_{t}=e_{n-1_{x}}-\beta a_{n}+\epsilon c_{n}-v d_{n-1}+w e_{n-1} . \tag{7}
\end{align*}
$$

In particular, taking $n=1$ in (7), we have
$u_{t}=k\left(u_{x}+2 u \beta \epsilon-2 w u\right) \quad v_{t}=k\left(v_{x}-2 v \beta \epsilon+2 w v\right) \quad w_{t}=k(\beta \epsilon)_{x}$
$\epsilon_{t}=k\left(\epsilon_{x}-w \epsilon\right) \quad \beta_{t}=k\left(\beta_{x}+w \beta\right)$.
Case II. We have the following solution of (4): $d=4, e_{1}=e_{2}=2, e_{4}=3, e_{3}=1$. Furthermore, take $d_{0}=2, d_{p}=0$ and $e_{0}(\lambda)=\left(E_{1}+E_{2}\right) \otimes \lambda^{2}$, and consider the following new spectral problem

$$
\psi_{x}=U \psi
$$

where

$$
U=\left(E_{1}+E_{2}\right) \lambda^{2}+u E_{0}+\epsilon E_{3} \lambda=\left[\begin{array}{ccc}
u & \lambda^{2} & \lambda \epsilon \\
\lambda^{2} & -u & 0 \\
0 & -\lambda \epsilon & 0
\end{array}\right]
$$

Here $u$ is an even potential and $\epsilon$ is an odd one. Set

$$
\begin{aligned}
V=a E_{0}+ & b E_{1}+c E_{2}+d E_{3}+e E_{4}=\left[\begin{array}{ccc}
a & b & d \\
c & -a & e \\
e & -d & 0
\end{array}\right] \\
& =\sum_{n \geqslant 0}\left(a_{n} \lambda^{-4 n} E_{0}+b_{n} \lambda^{-4 n+2} E_{1}+c_{n} \lambda^{-4 n+2} E_{2}+d_{n} \lambda^{-4 n+1} E_{3}+e_{n} \lambda^{-4 n+3} E_{4}\right)
\end{aligned}
$$

where $a, b$, and $c$ are even and $d$ and $e$ are odd. Then similar to case I , from $U_{t}-\left(\lambda^{4 n} V\right)_{+x}+\left[U,\left(\lambda^{4 n} V\right)_{+}\right]=0$, we can deduce a hierarchy of equations

$$
\begin{equation*}
u_{t}=a_{n_{x}} \quad \epsilon_{t}=d_{n_{x}}-u d_{n}+\epsilon a_{n} \tag{8}
\end{equation*}
$$

where all the $a_{m}, d_{m}$ can be calculated recursively from the following relations

$$
\begin{gather*}
a_{m x}=c_{m+1}-b_{m+1}+\epsilon e_{m+1} \quad b_{m_{x}}=-2 a_{m}+2 u b_{m}-2 \epsilon d_{m} \quad c_{m x}=2 a_{m}-2 u c_{m} \\
d_{m_{x}}=e_{m+1}+u d_{m}-\epsilon a_{m} \quad e_{m_{x}}=d_{m}-u e_{m}-\epsilon c_{m} \tag{9}
\end{gather*}
$$

with the initial values $e_{0}=0, b_{0}=c_{0}=k=$ constant $\neq 0$ ( $k$ is even). For example, the first few of $a_{m}, b_{m}, c_{m}, d_{m}$, and $e_{m}$ are

$$
\begin{aligned}
& a_{0}=k u \quad d_{0}=k \epsilon \quad e_{1}=k \epsilon_{x} \quad b_{1}=\frac{1}{2}\left(-k u^{2}-k u_{x}-k \epsilon \epsilon_{x}\right) \\
& c_{1}=\frac{1}{2}\left(-k u^{2}+k u_{x}-3 k \epsilon \epsilon_{x}\right) \quad a_{1}=\frac{1}{4} k\left(u_{x x}-3 \epsilon \epsilon_{x x}\right)-\frac{1}{2} k u\left(u^{2}+3 \epsilon \epsilon_{x}\right) \\
& d_{1}=k\left(\epsilon_{x x}+u \epsilon_{x}+\frac{1}{2} \epsilon u_{x}-\frac{1}{2} \epsilon u^{2}\right) \quad e_{2}=k\left(\epsilon_{x x x}+\frac{3}{2} u_{x} \epsilon_{x}+\frac{3}{4} \epsilon u_{x x}-\frac{3}{2} u^{2} \epsilon_{x}-\frac{3}{2} \epsilon u u_{x}\right) \\
& b_{2}+c_{2}=k\left[-\frac{1}{2}\left(u u_{x x}-\frac{1}{2} u_{x}^{2}\right)+\frac{3}{2} u \epsilon \epsilon_{x x}-\frac{9}{2} u_{x} \epsilon \epsilon_{x}\right. \\
& \left.\quad+\frac{3}{4} u^{4}-2\left(\epsilon \epsilon_{x x x}-\epsilon_{x} \epsilon_{x x}\right)+6 \epsilon \epsilon_{x} u^{2}\right]
\end{aligned}
$$

Thus, taking $n=1$ in (8), we, in particular, have

$$
\begin{align*}
& u_{t}=k\left(\frac{1}{4} u_{x x x}-\frac{3}{4} \epsilon_{x} \epsilon_{x x}-\frac{3}{4} \epsilon \epsilon_{x x x}-\frac{3}{2} u^{2} u_{x}-\frac{3}{2} u_{x} \epsilon \epsilon_{x}-\frac{3}{2} u \epsilon \epsilon_{x x}\right)  \tag{10}\\
& \epsilon_{t}=k\left(\epsilon_{x x x}+\frac{3}{2} u_{x} \epsilon_{x}+\frac{3}{4} \epsilon u_{x x}-\frac{3}{2} u^{2} \epsilon_{x}-\frac{3}{2} \epsilon u u_{x}\right)
\end{align*}
$$

## 3. Further examples

In this section, we shall consider some other examples.
Example 2. Consider $s l(2 / 1)$. Its basis is
$E_{1}=\left[\begin{array}{lll}0 & 1 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0\end{array}\right] \quad E_{2}=\left[\begin{array}{lll}0 & 0 & 0 \\ 0 & 0 & 1 \\ 0 & 0 & 0\end{array}\right] \quad F_{1}=\left[\begin{array}{lll}0 & 0 & 0 \\ 1 & 0 & 0 \\ 0 & 0 & 0\end{array}\right]$
$F_{2}=\left[\begin{array}{lll}0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 1 & 0\end{array}\right] \quad G_{1}=\left[\begin{array}{lll}0 & 0 & 1 \\ 0 & 0 & 0 \\ 0 & 0 & 0\end{array}\right] \quad G_{2}=\left[\begin{array}{lll}0 & 0 & 0 \\ 0 & 0 & 0 \\ 1 & 0 & 0\end{array}\right]$
$H_{1}=\left[\begin{array}{ccc}1 & 0 & 0 \\ 0 & -1 & 0 \\ 0 & 0 & 0\end{array}\right] \quad H_{2}=\left[\begin{array}{lll}0 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1\end{array}\right]$.
Their (anti)commutation relations are given in [4]. Set $G_{2}$ as a linear span of $\left\{H_{a} \otimes \lambda^{d n}, E_{b} \otimes\right.$ $\lambda^{d n+e_{b}}, F_{b} \otimes \lambda^{d n+f_{b}}, G_{b} \otimes \lambda^{d n+g_{b}} \mid n \in Z ; a, b=1,2 ; d$ is a positive integer, $e_{b}, f_{b}$ and $g_{b}$ are fixed integers. Obviously, $G_{2}$ is a subsuperalgebra of $G$ iff
$e_{a}+f_{a}=0(\bmod d), a=1,2 ; e_{1}+e_{2}=g_{1}(\bmod d), e_{1}+g_{2}=f_{2}(\bmod d)$.
It is easy to give the following two solutions of (11).
Case I. $d=2, e_{1}=e_{2}=f_{1}=f_{2}=1, g_{1}=g_{2}=0$.
Case II. $d=4, e_{1}=f_{1}=2, e_{2}=g_{2}=1, f_{2}=g_{1}=3$.
Let us first consider case I. In this case, we take

$$
e_{0}(\lambda)=\left(E_{1}+F_{1}\right) \otimes \lambda
$$

and consider the following spectral problem

$$
\psi_{x}=U \psi
$$

where

$$
U=\left(E_{1}+F_{1}\right) \lambda+u H_{1}+\epsilon G_{1}+\beta G_{2}=\left[\begin{array}{ccc}
u & \lambda & \epsilon \\
\lambda & -u & 0 \\
\beta & 0 & 0
\end{array}\right]
$$

with $u$ being an even potential and $\epsilon$ and $\beta$ odd ones. Set

$$
\begin{gathered}
V=a H_{1}+b H_{2}+c E_{1}+d F_{1}+e G_{1}+f G_{2}+g E_{2}+h F_{2}=\left[\begin{array}{ccc}
a & c & e \\
d & -a+b & g \\
f & h & b
\end{array}\right] \\
=\sum_{n \geqslant 0}\left(a_{n} \lambda^{-2 n} H_{1}+b_{n} \lambda^{-2 n} H_{2}+e_{n} \lambda^{-2 n} G_{1}+f_{n} \lambda^{-2 n} G_{2}+g_{n} \lambda^{-2 n-1} E_{2}\right. \\
\left.\quad+c_{n} \lambda^{-2 n-1} E_{1}+d_{n} \lambda^{-2 n-1} F_{1}+h_{n} \lambda^{-2 n-1} F_{2}\right)
\end{gathered}
$$

where $a, b, c$, and $d$ are even and $e, f, g$, and $h$ are odd. Similar to example 1 in section 2 , from $U_{t}-\left(\lambda^{2 n} V\right)_{+x}+\left[U,\left(\lambda^{2 n} V\right)_{+}\right]=0$ we can deduce the corresponding hierarchy of equations

$$
\begin{equation*}
u_{t}=a_{n_{x}}-\epsilon f_{n}+e_{n} \beta \quad \epsilon_{t}=e_{n_{x}}-u e_{n}+\left(a_{n}-b_{n}\right) \epsilon \quad \beta_{t}=f_{n_{x}}+u f_{n}+\left(b_{n}-a_{n}\right) \beta \tag{12}
\end{equation*}
$$

where all the $a_{m}, b_{m}, e_{m}, f_{m}$ can be calculated recursively from the following relations:

$$
\begin{array}{lr}
a_{m_{x}}=d_{m+1}-c_{m+1}+\epsilon f_{m}+\beta e_{m} \quad b_{m x}=\beta e_{m}+\epsilon f_{m} \\
c_{m x}=2 u c_{m}+\left(-2 a_{m}+b_{m}\right)+\epsilon h_{m} \quad d_{m x}=2 a_{m}-b_{m}-2 u d_{m}+\beta g_{m}  \tag{13}\\
e_{m_{x}}=g_{m+1}+u e_{m}+\epsilon\left(b_{m}-a_{m}\right) \quad f_{m_{x}}=-h_{m+1}+\beta\left(a_{m}-b_{m}\right)-u f_{m} \\
g_{m_{x}}=e_{m}-u g_{m}-\epsilon d_{m} \quad h_{m_{x}}=-f_{m}+u h_{m}+\beta c_{m} .
\end{array}
$$

We now give the first few of $a_{m}, b_{m}, c_{m}, d_{m}, e_{m}$, and $f_{m}$ in two cases.
Case ( $a$ ). $g_{0}=h_{0}=0$. Set $d_{0}=c_{0}=k=$ constant $\neq 0$ ( $k$ is even). Then
$e_{0}=k \epsilon \quad f_{0}=k \beta \quad b_{0}=0 \quad a_{0}=k u \quad h_{1}=-k \beta_{x} \quad g_{1}=k \epsilon_{x}$
$d_{1}=\frac{1}{2}\left(k u_{x}-k u^{2}-k \epsilon \beta\right) \quad c_{1}=\frac{1}{2}\left(-k u_{x}-k u^{2}-k \epsilon \beta\right)$
$e_{1}=k\left(\epsilon_{x x}+u \epsilon_{x}+\frac{1}{2} \epsilon u_{x}-\frac{1}{2} \epsilon u^{2}\right) \quad f_{1}=k\left(\beta_{x x}-u \beta_{x}-\frac{1}{2} \beta u_{x}-\frac{1}{2} \beta u^{2}\right)$
$b_{1}=k\left(\epsilon \beta_{x}-\epsilon_{x} \beta-u \epsilon \beta\right) \quad a_{1}=k\left(\frac{1}{4} u_{x x}-\frac{1}{4} \epsilon_{x} \beta+\frac{1}{4} \epsilon \beta_{x}-\frac{1}{2} u^{3}-u \epsilon \beta\right)$
Case (b). $g_{0}=h_{0}=0$. Set $d_{0}=c_{0}=0, a_{0}=k=$ constant $\neq 0$ ( $k$ is even). Then
$e_{0}=f_{0}=0 \quad g_{1}=-k \epsilon \quad h_{1}=-k \beta \quad d_{1}=c_{1}=0 \quad e_{1}=-k \epsilon_{x}-k u \epsilon$
$f_{1}=k \beta_{x}-k u \beta$
$b_{1}=k \epsilon \beta$
$a_{1}=0 \quad \ldots$.

Corresponding to two different choices of $a_{0}, b_{0}, c_{0}, d_{0}, e_{0}, f_{0}, g_{0}$, and $h_{0}$ we have two hierarchies of equations. In particular, for case (a), taking $n=0$ in (12), we have

$$
\begin{aligned}
u_{t} & =k\left(\frac{1}{4} u_{x x x}+\frac{3}{4} \epsilon_{x x} \beta-\frac{3}{4} \epsilon \beta_{x x}-\frac{3}{2} u^{2} u_{x}\right) \\
\epsilon_{t} & =k\left(\epsilon_{x x x}+\frac{3}{2} u_{x} \epsilon_{x}+\frac{3}{4} u_{x x} \epsilon-\frac{3}{2} u^{2} \epsilon_{x}-\frac{3}{2} u u_{x} \epsilon+\frac{3}{4} \epsilon \epsilon_{x} \beta\right) \\
\beta_{t} & =k\left(\beta_{x x x}-\frac{3}{2} u_{x} \beta_{x}-\frac{3}{4} u_{x x} \beta-\frac{3}{2} u^{2} \beta_{x}-\frac{3}{2} u u_{x} \beta+\frac{3}{4} \beta \epsilon \beta_{x}\right) .
\end{aligned}
$$

For case (b), taking $n=1$ in (12), we have

$$
\begin{aligned}
u_{t} & =-k(\epsilon \beta)_{x} \\
\epsilon_{t} & =k\left(-\epsilon_{x x}-u_{x} \epsilon+u^{2} \epsilon\right) \\
\beta_{t} & =k\left(\beta_{x x}-u_{x} \beta-u^{2} \beta\right) .
\end{aligned}
$$

Next we consider case II. In this case, we take

$$
e_{0}(\lambda)=\left(E_{1}+F_{1}\right) \otimes \lambda^{2}
$$

and consider the following spectral problem

$$
\psi_{x}=U \psi
$$

where
$U=\left(E_{1}+F_{1}\right) \lambda^{2}+u H_{1}+v H_{2}+\epsilon E_{2} \lambda+\beta G_{2} \lambda=\left[\begin{array}{ccc}u & \lambda^{2} & 0 \\ \lambda^{2} & -u+v & \lambda \epsilon \\ \lambda \beta & 0 & v\end{array}\right]$
with $u, v$ being even potentials and $\epsilon, \beta$ odd ones. Set

$$
\begin{aligned}
& V=a H_{1}+b H_{2}+c E_{1}+d F_{1}+e G_{1}+f G_{2}+g E_{2}+h F_{2}=\left[\begin{array}{ccc}
a & c & e \\
d & -a+b & g \\
f & h & b
\end{array}\right] \\
& =\sum_{n \geqslant 0}\left(a_{n} \lambda^{-4 n} H_{1}+b_{n} \lambda^{-4 n} H_{2}+e_{n} \lambda^{-4 n+3} G_{1}+f_{n} \lambda^{-4 n+1} G_{2}+g_{n} \lambda^{-4 n+1} E_{2}\right. \\
& \left.\quad+c_{n} \lambda^{-4 n+2} E_{1}+d_{n} \lambda^{-4 n+2} F_{1}+h_{n} \lambda^{-4 n+3} F_{2}\right)
\end{aligned}
$$

where $a, b, c$, and $d$ are even and $e, f, g$, and $h$ are odd. From $U_{t}-\left(\lambda^{2 n} V\right)_{+x}+$ $\left[U,\left(\lambda^{2 n} V\right)_{+}\right]=0$, we can deduce a hierarchy of equations

$$
\begin{align*}
& u_{t}=a_{n_{x}} \quad v_{t}=b_{n_{x}} \quad \epsilon_{t}=g_{n_{x}}+u g_{n}-\epsilon a_{n} \\
& \beta_{t}=f_{n_{x}}+(u-v) f_{n}-\beta\left(a_{n}-b_{n}\right) \tag{14}
\end{align*}
$$

where all the $a_{m}, b_{m}, f_{m}$, and $g_{m}$ can be calculated recursively from the following relations:

$$
\begin{array}{lc}
a_{m_{x}}=d_{m+1}-c_{m+1}+\beta e_{m+1} & b_{m_{x}}=\beta e_{m+1}+\epsilon h_{m+1} \\
c_{m x}=-2 a_{m}+b_{m}+(2 u-v) c_{m} & d_{m x}=2 a_{m}-b_{m}+(v-2 u) d_{m}+\epsilon f_{m}+\beta g_{m} \\
e_{m_{x}}=g_{m}+(u-v) e_{m}-\epsilon c_{m} & f_{m_{x}}=-h_{m+1}+\beta\left(a_{m}-b_{m}\right)+(v-u) f_{m} \\
g_{m_{x}}=e_{m+1}-u g_{m}-\epsilon a_{m} & h_{m x}=-f_{m}+u h_{m}+\beta c_{m} . \tag{15}
\end{array}
$$

We now give the first few of $a_{m}, b_{m}, c_{m}, d_{m}, e_{m}, f_{m}, g_{m}$, and $h_{m}$ in two cases.
Case (a). $e_{0}=h_{0}=0$. Set $d_{0}=c_{0}=k=$ constant $\neq 0$ ( $k$ is even). Then
$g_{0}=k \epsilon$

$$
f_{0}=k \beta \quad b_{0}=k \beta \epsilon
$$

$$
a_{0}=\frac{1}{2} k(2 u-v)+\frac{1}{2} k \beta \epsilon
$$

....

Case (b). $e_{0}=h_{0}=0$. Set $d_{0}=c_{0}=f_{0}=g_{0}=0, a_{0}=k=$ constant $\neq$ $0\left(k\right.$ is even), $b_{0}=2 k$. Then
$h_{1}=-k \beta \quad e_{1}=-k \epsilon \quad d_{1}=0 \quad c_{1}=k \epsilon \beta \quad g_{1}=-k \epsilon_{x}-k(v-u) \epsilon$
$f_{1}=k \beta_{x}-k u \beta \quad b_{1}=k\left(\epsilon_{x} \beta-\epsilon \beta_{x}+v \epsilon \beta\right) \quad a_{1}=-k \epsilon \beta_{x}+k u \epsilon \beta \quad \ldots$.
Corresponding to two different choices of $a_{0}, b_{0}, c_{0}, d_{0}, e_{0}, f_{0}, g_{0}$ and $h_{0}$, we have two hierarchies of equations. In particular, for case (a), taking $n=0$ in (14), we have
$u_{t}=\frac{1}{2} k(2 u-v+\beta \epsilon)_{x} \quad v_{t}=k(\beta \epsilon)_{x} \quad \epsilon_{t}=k\left(\epsilon_{x}+\frac{1}{2} v \epsilon\right) \quad \beta_{t}=k\left(\beta_{x}-\frac{1}{2} v \beta\right)$.
For case (b), taking $n=1$ in (14), we have
$u_{t}=k\left(-\epsilon \beta_{x}+u \epsilon \beta\right)_{x} \quad v_{t}=k\left(\epsilon_{x} \beta-\epsilon \beta_{x}+v \epsilon \beta\right)_{x}$
$\epsilon_{t}=k\left[-\epsilon_{x x}-(v-u)_{x} \epsilon-v \epsilon_{x}-u(v-u) \epsilon\right] \quad \beta_{t}=k\left[\beta_{x x}-u_{x} \beta-v \beta_{x}-u(u-v) \beta\right]$.
Example 3. $\operatorname{osp}(n, 2 r)$ is defined as [22]

$$
\left\{\left(\begin{array}{ll}
A & B \\
C & D
\end{array}\right) \left\lvert\, \begin{array}{l}
A^{\mathrm{T}} G+G A=0, \\
B^{\mathrm{T}} G-H C=0, \\
D^{\mathrm{T}} H+H D=0
\end{array} \quad H=\left(\begin{array}{cc}
0 & I_{r} \\
-I_{r} & 0
\end{array}\right)\right.\right\}
$$

It is a subsuperalgebra of $\operatorname{sl}(n / 2 r)$. In the following, we only consider $\operatorname{osp}(2,2)$ for the sake of convenience in the calculation. A basis of $\operatorname{osp}(2,2)$ is as follows,
$E_{0}=\left[\begin{array}{cccc}0 & 1 & 0 & 0 \\ -1 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0\end{array}\right]$
$E_{1}=\left[\begin{array}{cccc}0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & -1\end{array}\right]$ $E_{2}=\left[\begin{array}{llll}0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 1 \\ 0 & 0 & 0 & 0\end{array}\right]$
$\begin{array}{ll}E_{3}=\left[\begin{array}{llll}0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0\end{array}\right] & E_{4}=\left[\begin{array}{cccc}0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 1 & 0 & 0 & 0\end{array}\right] \\ E_{6}=\left[\begin{array}{llll}0 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0\end{array}\right] & E_{7}=\left[\begin{array}{cccc}0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 1 \\ 0 & -1 & 0 & 0 \\ 0 & 0 & 0 & 0\end{array}\right]\end{array}$
where $E_{0}, E_{1}, E_{2}$, and $E_{3}$ are even elements and $E_{4}, E_{5}, E_{6}$, and $E_{7}$ are odd ones. Their non-zero (anti)commutation relations are
$\left[E_{0}, E_{4}\right]=-E_{6} \quad\left[E_{0}, E_{5}\right]=-E_{7} \quad\left[E_{0}, E_{6}\right]=E_{4} \quad\left[E_{0}, E_{7}\right]=E_{5}$
$\left[E_{1}, E_{2}\right]=2 E_{2} \quad\left[E_{1}, E_{3}\right]=-2 E_{3} \quad\left[E_{1}, E_{4}\right]=-E_{4} \quad\left[E_{1}, E_{5}\right]=E_{5}$
$\left[E_{1}, E_{6}\right]=-E_{6} \quad\left[E_{1}, E_{7}\right]=E_{7} \quad\left[E_{2}, E_{3}\right]=E_{1} \quad\left[E_{2}, E_{4}\right]=-E_{5}$
$\left[E_{2}, E_{6}\right]=-E_{7} \quad\left[E_{3}, E_{5}\right]=-E_{4} \quad\left[E_{3}, E_{7}\right]=-E_{6} \quad\left[E_{4}, E_{4}\right]=2 E_{3}$
$\left[E_{4}, E_{7}\right]=-E_{0}$
$\left[E_{5}, E_{5}\right]=-2 E_{2}$
$\left[E_{5}, E_{6}\right]=E_{0}$
$\left[E_{6}, E_{6}\right]=2 E_{3}$
$\left[E_{6}, E_{7}\right]=-E_{1}$
$\left[E_{7}, E_{7}\right]=-2 E_{2}$.
Set $G_{4}$ as a linear span of $\left\{E_{0} \otimes \lambda^{d n+e_{0}}, E_{1} \otimes \lambda^{d n}, E_{2} \otimes \lambda^{d n+e_{2}}, E_{3} \otimes \lambda^{d n+e_{3}}, \ldots, E_{7} \otimes\right.$ $\lambda^{d n+e_{7}} \mid n \in Z, d$ is a positive integer, $e_{0}, e_{2}, \ldots, e_{7}$ are fixed non-negative integers. It is easy to show that $G_{4}$ is a subsuperalgebra of $\left.\operatorname{osp}(2,2)\right) \otimes C\left[\lambda, \lambda^{-1}\right]$ iff

$$
\begin{array}{lcc}
e_{0}+e_{4}=e_{6}(\bmod d) & e_{0}+e_{5}=e_{7}(\bmod d) & e_{0}+e_{6}=e_{4}(\bmod d) \\
e_{0}+e_{7}=e_{5}(\bmod d) & e_{2}+e_{3}=0(\bmod d) & e_{2}+e_{4}=e_{5}(\bmod d) \\
2 e_{4}=e_{3}(\bmod d) & 2 e_{5}=e_{2}(\bmod d) \quad e_{5}+e_{6}=e_{0}(\bmod d) \tag{16}
\end{array}
$$

Here we only consider the following solution of (16):

$$
d=4 \quad e_{0}=e_{2}=e_{3}=2 \quad e_{5}=e_{6}=1 \quad e_{4}=e_{7}=3
$$

In this case, a linear span of $\left\{E_{0} \otimes \lambda^{4 n+2}, E_{1} \otimes \lambda^{4 n}, E_{2} \otimes \lambda^{4 n+2}, E_{3} \otimes \lambda^{4 n+2}, E_{4} \otimes\right.$ $\left.\lambda^{4 n+3}, \quad E_{5} \otimes \lambda^{4 n+1}, E_{6} \otimes \lambda^{4 n+1}, E_{7} \otimes \lambda^{4 n+3} \mid n \in Z\right\}$ forms a subsuperloopalgebra of $\operatorname{osp}(2,2)) \otimes C\left[\lambda, \lambda^{-1}\right]$. Take $e_{0}(\lambda)=\left(E_{0}+E_{2}+E_{3}\right) \otimes \lambda^{2}$. We consider the following new spectral problem

$$
\psi_{x}=U \psi
$$

where
$U=\left(E_{0}+E_{2}+E_{3}\right) \lambda^{2}+u E_{1}+\epsilon E_{5} \lambda+\beta E_{6} \lambda=\left[\begin{array}{cccc}0 & \lambda^{2} & 0 & \lambda \epsilon \\ -\lambda^{2} & 0 & \lambda \beta & 0 \\ -\lambda \epsilon & 0 & u & \lambda^{2} \\ 0 & \lambda \beta & \lambda^{2} & -u\end{array}\right]$
with $u$ being an even potential and $\epsilon$ and $\beta$ odd ones. Set

$$
\begin{gathered}
V=a E_{0}+b E_{1}+c E_{2}+d E_{3}+e E_{4}+f E_{5}+g E_{6}+h E_{7}=\left[\begin{array}{cccc}
0 & a & e & f \\
-a & 0 & g & h \\
-f & -h & b & c \\
e & g & d & -b
\end{array}\right] \\
=\sum_{n \geqslant 0}\left(a_{n} \lambda^{-4 n+2} E_{0}+b_{n} \lambda^{-4 n} E_{1}+c_{n} \lambda^{-4 n+2} E_{2}+d_{n} \lambda^{-4 n+2} E_{3}\right. \\
\left.+e_{n} \lambda^{-4 n+3} E_{4}+f_{n} \lambda^{-4 n+1} E_{5}+g_{n} \lambda^{-4 n+1} E_{6}+h_{n} \lambda^{-4 n+3} E_{7}\right)
\end{gathered}
$$

where $a, b, c$, and $d$ are even and $e, f, g$, and $h$ are odd. From $U_{t}-\left(\lambda^{2 n} V\right)_{+x}+$ $\left[U,\left(\lambda^{2 n} V\right)_{+}\right]=0$, we can deduce a hierarchy of equations

$$
\begin{equation*}
u_{t}=b_{n x} \quad \epsilon_{t}=f_{n_{x}}+\epsilon b_{n}-u f_{n} \quad \beta_{t}=g_{n_{x}}+u g_{n}-\beta b_{n} \tag{17}
\end{equation*}
$$

where all the $b_{m}, f_{m}$, and $g_{m}$ can be calculated recursively from the following relations

$$
\begin{align*}
& a_{m x}=\epsilon g_{m}+\beta f_{m} \quad b_{m x}=d_{m+1}-c_{m+1}-\epsilon e_{m+1}-\beta h_{m+1} \\
& c_{m x}=-2 b_{m}+2 u c_{m}-2 \epsilon f_{m} \quad d_{m x}=2 b_{m}-2 u d_{m}+2 \beta g_{m}  \tag{18}\\
& e_{m x}=g_{m}-f_{m}-u e_{m}-\beta a_{m}+\epsilon d_{m} \quad f_{m_{x}}=h_{m+1}-e_{m+1}+u f_{m}-\epsilon b_{m} \\
& g_{m_{x}}=-e_{m+1}-h_{m+1}-u g_{m}+\beta b_{m} \quad h_{m_{x}}=-g_{m}-f_{m}+u h_{m}+\beta c_{m}+\epsilon a_{m}
\end{align*}
$$

with initial conditions
$h_{0}=e_{0}=0 \quad d_{0}=c_{0}=k_{1}=\mathrm{constant} \quad a_{0}=k_{2}=\mathrm{constant}\left(k_{i}\right.$ are even $)$
$f_{0}=\frac{1}{2} k_{1}(\epsilon+\beta)+\frac{1}{2} k_{2}(\epsilon-\beta) \quad g_{0}=\frac{1}{2} k_{1}(\beta-\epsilon)+\frac{1}{2} k_{2}(\epsilon+\beta)$
$b_{0}=k_{1} u+\frac{1}{2}\left(k_{2}-k_{1}\right) \epsilon \beta \quad \ldots$.
Set $n=0$, then (17) becomes

$$
\begin{aligned}
u_{t} & =k_{1} u_{x}+\frac{1}{2}\left(k_{2}-k_{1}\right)(\epsilon \beta)_{x} \\
\epsilon_{t} & =\frac{1}{2}\left(k_{1}+k_{2}\right) \epsilon_{x}+\frac{1}{2}\left(k_{1}-k_{2}\right) \beta_{x}+\frac{1}{2}\left(k_{1}-k_{2}\right) u(\epsilon-\beta) \\
\beta_{t} & =\frac{1}{2}\left(k_{1}+k_{2}\right) \beta_{x}+\frac{1}{2}\left(k_{2}-k_{1}\right) \epsilon_{x}+\frac{1}{2}\left(k_{2}-k_{1}\right) u(\epsilon+\beta)
\end{aligned}
$$

## 4. Other cases: $e_{0}(\boldsymbol{\lambda})$ is not pseudoregular

Note that in sections 2 and 3 we only considered the case when $e_{0}(\lambda)$ appearing in the spectral problem (1) is so-called pseudoregular. Thus a natural problem arises of whether a hierarchy of equations connected with (1) could be derived when $e_{0}(\lambda)$ is not so-called pseudoregular. Generally speaking, the answer is negative as, in this case, the co-adjoint equation (2) is not guaranteed to have solution in general. However, for some special cases, it is possible to derive a hierarchy of equations connected with (1) when $e_{0}(\lambda)$ is not pseudoregular. To illustrate this, let us consider the superalgebra $b(n)$ defined as [22]

$$
b(n)=\left\{\left.\left(\begin{array}{cc}
A & B \\
C & -A^{\mathrm{T}}
\end{array}\right) \right\rvert\, \operatorname{Tr} A=0 \quad B^{\mathrm{T}}=B \quad C^{\mathrm{T}}=-C\right\}
$$

In the following, we only consider $b(2)$. A basis of $b(2)$ is as follows,
$E_{0}=\left[\begin{array}{cccc}1 & 0 & 0 & 0 \\ 0 & -1 & 0 & 0 \\ 0 & 0 & -1 & 0 \\ 0 & 0 & 0 & 1\end{array}\right]$
$E_{1}=\left[\begin{array}{cccc}0 & 1 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & -1 & 0\end{array}\right]$

$$
E_{2}=\left[\begin{array}{cccc}
0 & 0 & 0 & 0 \\
1 & 0 & 0 & 0 \\
0 & 0 & 0 & -1 \\
0 & 0 & 0 & 0
\end{array}\right]
$$

$E_{3}=\left[\begin{array}{cccc}0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ -1 & 0 & 0 & 0\end{array}\right]$
$E_{4}=\left[\begin{array}{llll}0 & 0 & 0 & 1 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0\end{array}\right] \quad E_{5}=\left[\begin{array}{llll}0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0\end{array}\right]$
$E_{6}=\left[\begin{array}{llll}0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 1 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0\end{array}\right]$
where $E_{0}, E_{1}$, and $E_{2}$ are even elements and $E_{3}, E_{4}, E_{5}$, and $E_{6}$ are odd ones. Set $G_{5}$ as a linear span of $\left\{E_{0} \otimes \lambda^{2 n}, E_{1} \otimes \lambda^{2 n+1}, E_{2} \otimes \lambda^{2 n+1}, E_{4} \otimes \lambda^{2 n}, E_{5} \otimes \lambda^{2 n+1}, E_{6} \otimes \lambda^{2 n+1}, n \in Z\right\}$. It is easy to show that $G_{5}$ is a subsuperalgebra of $\left.b(2)\right) \otimes C\left[\lambda, \lambda^{-1}\right]$. We now consider the following spectral problem

$$
\begin{equation*}
\psi_{x}=U \psi \tag{19}
\end{equation*}
$$

where

$$
\begin{equation*}
U=\left(E_{1}+E_{2}\right) \lambda+u E_{0}+\epsilon E_{4} \tag{20}
\end{equation*}
$$

with $u$ being an even potential and $\epsilon$ an odd one. It is easily verified that $\left(E_{1}+E_{2}\right) \lambda$ is not pseudoregular. However, a detailed calculation shows that we can deduce a corresponding hierarchy of equations connected with (19) and (20). Here we only give the first non-trivial equation

$$
\begin{aligned}
& u_{t}=\alpha\left(\frac{1}{4} u_{x x x}-u^{2} u_{x}\right) \\
& \epsilon_{t}=\frac{1}{4} \alpha \epsilon_{x x x}-\frac{1}{4} k u_{x x x}+\frac{3}{2} u^{2} u_{x}-\frac{3}{2} \alpha u^{2} \epsilon_{x}-3 \alpha u u_{x} \epsilon
\end{aligned}
$$

where $\alpha$ is an even constant and $k$ is an odd constant.
Similarly, we can deduce corresponding hierarchy of equations connected with the following spectral problem:

$$
\psi_{x}=U \psi=\left(\lambda E_{0}+u E_{1}+v E_{2}+\epsilon E_{5}+\beta E_{6}\right) \psi
$$

Here $u$ and $v$ are even potentials and $\epsilon$ and $\beta$ are odd ones. Obviously, $\lambda E_{0}$ is not pseudoregular. Besides, we can also consider the superalgebra $d(n)$ defined as [22]

$$
d(n)=\left\{\left.\left(\begin{array}{ll}
A & B \\
B & A
\end{array}\right) \right\rvert\, A \in g l(n), B \in \operatorname{sl}(n)\right\}
$$

## 5. Supertrace identity

In this section, we shall present a supertrace identity and use it to establish corresponding Hamiltonian structures of the superextensions of integrable systems under consideration in sections 2 and 3 . As the proof of supertrace identity is very similar to that in [17-20], we only give results without proof.

Theorem 2. Suppose that the solution of equation (2) is unique in the sense that two solutions $V_{1}$ and $V_{2}$ of the same rank differ only by a constant factor: $V_{2}=\alpha V_{1}, \alpha$ is an even constant. Then it holds that

$$
\begin{equation*}
\frac{\delta}{\delta u_{i}} \operatorname{Str}\left(V \frac{\partial U}{\partial \lambda}\right)=\left(\lambda^{-\gamma}\left(\frac{\partial}{\partial \lambda}\right) \lambda^{\gamma}\right) \operatorname{Str}\left(\frac{\partial U}{\partial u_{i}} V\right) \tag{21}
\end{equation*}
$$

where $V$ satisfies the co-adjoint equation (2).
In what follows, we only give corresponding Hamiltonian structures of (8) as an illustrative application. We can easily obtain that

$$
\begin{aligned}
\operatorname{Str}\left(V \frac{\partial U}{\partial \lambda}\right) & =\operatorname{Str}\left(\begin{array}{ccc}
a & b & d \\
c & -a & e \\
e & -d & 0
\end{array}\right)\left(\begin{array}{ccc}
0 & 2 \lambda & \epsilon \\
2 \lambda & 0 & 0 \\
0 & -\epsilon & 0
\end{array}\right)=2 \lambda b+2 \lambda c-2 e \epsilon \\
\operatorname{Str}\left(\frac{\partial U}{\partial u} V\right) & =\operatorname{Str}\left(\begin{array}{lll}
1 & 0 & 0 \\
0 & -1 & 0 \\
0 & 0 & 0
\end{array}\right)\left(\begin{array}{ccc}
a & b & d \\
c & -a & e \\
e & -d & 0
\end{array}\right)=2 a
\end{aligned}
$$

$$
\operatorname{Str}\left(\frac{\partial U}{\partial \epsilon} V\right)=\operatorname{Str}\left(\begin{array}{ccc}
0 & 0 & \lambda \\
0 & 0 & 0 \\
0 & -\lambda & 0
\end{array}\right)\left(\begin{array}{ccc}
a & b & d \\
c & -a & e \\
e & -d & 0
\end{array}\right)=2 \lambda e .
$$

In this case, (21) becomes

$$
\begin{equation*}
\binom{\delta / \delta u}{\delta / \delta \epsilon}(2 \lambda b+2 \lambda c-2 e \epsilon)=\left(\lambda^{-\gamma}\left(\frac{\partial}{\partial \lambda}\right) \lambda^{\gamma}\right)\binom{2 a}{2 \lambda e} \tag{22}
\end{equation*}
$$

or

$$
\begin{equation*}
\binom{\delta / \delta u}{\delta / \delta \epsilon}\left(b_{n}+c_{n}-e_{n} \epsilon\right)=(\gamma-4)\binom{a_{n-1}}{e_{n}} . \tag{23}
\end{equation*}
$$

In particular, taking $n=1$, we have

$$
\binom{-2 k u}{-2 k \epsilon_{x}}=(\gamma-4)\binom{k u}{k \epsilon_{x}} .
$$

Therefore, $\gamma=2$. When $n=2$, we know from (23) that

$$
\binom{a_{1}}{e_{2}}=-\frac{1}{6}\binom{\delta / \delta u}{\delta / \delta \epsilon}\left(b_{2}+c_{2}-e_{2} \epsilon\right)
$$

In general, we can write (10) in the Hamiltonian form

$$
\binom{u}{\epsilon}_{t}=\left(\begin{array}{cc}
\partial & 0 \\
0 & 1
\end{array}\right)\binom{a_{n}}{\mathrm{e}_{n+1}}=\left(\begin{array}{cc}
\partial & 0 \\
0 & 1
\end{array}\right)\binom{\delta / \delta u}{\delta / \delta \epsilon} H_{n+1}
$$

where $H_{n}=\left(b_{n}+c_{n}-e_{n} \epsilon\right) /(2-4 n)$. In particular, (9) can be written in the Hamiltonian form

$$
\begin{gathered}
\binom{u}{\epsilon}_{t}=\left(\begin{array}{ll}
\partial & 0 \\
0 & 1
\end{array}\right)\binom{\delta / \delta u}{\delta / \delta \epsilon} k\left(-\frac{1}{2} u u_{x x}+\frac{1}{4} u_{x}^{2}+\frac{3}{2} u \epsilon \epsilon_{x x}-6 u_{x} \epsilon \epsilon_{x}\right. \\
\left.+\frac{3}{4} u^{4}-\epsilon \epsilon_{x x x}+2 \epsilon_{x} \epsilon_{x x}+\frac{9}{2} u^{2} \epsilon \epsilon_{x}\right)
\end{gathered}
$$

Remark. The supertrace identity (21) was first presented in [23]. It is noted that in [8] the supertrace identity was also applied to establish the Hamiltonian structure of superintegrable systems.

## 6. Concluding remarks

In this paper, an algorithm to generate integrable systems is extended to the super case. Some new examples of superextensions of integrable systems are illustrated. We also generalize the trace identity due to Tu to the super case and use it to establish Hamiltonian structures of superextensions of integrable systems under consideration. To our knowledge, the equations obtained in sections 2 and 3 are all new. It is noticed that in [7] Inami and Kanno extended the Drinfeld-Sokolov method to the supersymmetric case. As we mentioned in the introduction, there are two kinds of superextensions of the KdV equation: the socalled supersymmetric KdV equation derived by Manin and Radul and the Kupershmidt's version. The new equations found in this paper belong to the class of the Kupershmidt's superextension while the equations derived by Inami and Kanno may be viewed as to be in the class of Manin-Radul's superextension. However, as we have seen, in both cases Lie superalgebras play a key role in deriving superintegrable systems. In this paper we mainly focus on generating superextensions of integrable systems. Naturally, the algebraic and geometric properties of these new equations could be further considered. Also the corresponding recursion operators of these equations could be derived.

## Acknowledgments

The author would like to express his sincere thanks to Professor Gui-Zhang Tu for his guidance and encouragement. Thanks are also due to Professor Roy A Chowdhury for showing me paper [8] during the School 'Nonlinear Systems' held in Pondicherry, India in January 1996. This work was supported by the National Natural Science Foundation of China and Chinese Academy of Sciences.

## References

[1] Giradello L and Sciuto S 1978 Phys. Lett. 77B 267
Chaichian M and Kulish P P 1978 Phys. Lett. 78B 413
D'Auria R and Sciuto S 1980 Nucl. Phys. B 171189 Ol'Shanestsky M A 1983 Commun. Math. Phys. 8863 Kupershmidt B A 1984 J. Phys. A: Math. Gen. 17 L869 Kupershmidt B A 1985 Phys. Lett. 109A 417
Kupershmidt B A 1986 Mech. Res. Commun. 13 47-51
Kupershmidt B A 1984 Proc. Natl Acad. Sci., USA 816562
Kupershmidt B A 1986 Lect. Appl. Math. 23 83-120
Kupershmidt B A 1987 Elements of Superintegrable Systems (Dordrecht: Reidel) Kupershmidt B A 1985 Lett. Math. Phys. 9 323-30
Gurses M and Oguz O 1985 Phys. Lett. 108A 437
Gurses M and Oguz O 1986 Lett. Math. Phys. 11 235-46
Li Y and Zhang L 1986 Nuovo Cimento A 93175
Li Y and Zhang L 1988 J. Phys. A: Math. Gen. 21 1549-52
Li Y and Zhang L 1990 J. Math. Phys. 31 470-5
Erbay S and Ogus 1985 J. Phys. A: Math. Gen. 18 L969-L974
Antonowicz M A and Fordy A P 1989 Commun. Math. Phys. 124 487-500
Mathieu P 1988 Phys. Lett. 128A 169
Mathieu P 1988 Lett. Math. Phys. 16 199-206
Mathieu P 1988 J. Math. Phys. 292499
Roy Chowdhury A and Naskar M 1987 J. Math. Phys. 281809
Kerstern P H M and Gragert P K H 1988 J. Phys. A: Math. Gen. 21 L579-L584
Kerstern P H M and Gragert P K H 1988 J. Math. Phys. 292187
Roy Chowdhury A and Swapna Roy 1986 J. Math. Phys. 272464
Watanabe Y 1987 Lett. Math. Phys. 14 263-9
Uneo K, Yamada H and Ikeda K 1989 Commun. Math. Phys. 124 57-78
Yamada H 1987 Hiroshima Math. J. 17 377-94
Uneo K and Yamada 1987 Lett. Math. Phys. 13 59-68
Takasaki K 1989 Lett. Math. Phys. 17 351-7
Feng Yu 1992 J. Math. Phys. 33 3180-9
Liu Q P 1993 J. Phys. A: Math. Gen. 26 L1239-L1242
Liu Q P 1995 Lett. Math. Phys. 35 115-22
Oevel W and Popwicz 1991 Commun. Math. Phys. 139441
Das A and Roy S 1990 J. Math. Phys. 312145
McArthur I N and Yung C M 1993 Mod. Phys. Lett. A 8 1739-45
[2] Manin Yu I and Radul 1985 Commun. Math. Phys. 9865
[3] Kupershmidt B A 1984 Phys. Lett. 102A 213
[4] Olafsson S 1989 J. Phys. A: Math. Gen. 22 157-67
[5] Kac V G and van der Leur J 1987 Ann. de L'Institut Fourier 3799
[6] Gurses M, Oguz O and Salihoglu S 1990 Int. J. Mod. Phys. A 5 1801-17
[7] Inami and Kanno 1991 Commun. Math. Phys. 136519
[8] Palit S and Roy Chowdhury A 1994 J. Phys. A: Math. Gen. 27 L311-L316
[9] Wilson G 1981 Ergod. Th. Dynam. Syst. 1 361-80
[10] Drinfel'd V G and Sokolov V V 1981 Dobl. Akad. Nauk. USSR 258 11-16
[11] Date E, Kashiwara M, Jimbo M and Miwa T 1983 Nonlinear Integrable Systems-Classical Theory and Quantum Theory ed T Miwa and M Jimbo (Singapore: World Scientific) pp 33-119
[12] Newell A C 1985 Solitons in Mathematics and Physics (Philadelphia, PA: SIAM)
[13] Fordy A P and Kulish P P 1983 Commun. Math. Phys. 89 427-43
[14] Kupershmidt B A 1987 Physica 27D 294-310
[15] Flaschka H, Newell A C and Ratiu T 1983 Physica 9D 300
[16] Hu X B 1994 J. Phys. A: Math. Gen. 27 2497-514
[17] Tu G Z 1989 Sci. China A 32 142-53
[18] Tu G Z 1989 J. Math. Phys. 30 330-8
[19] Tu G Z 1989 Adv. Sci. China (Ser. Math.) 2 45-72
[20] Tu G Z 1989 J. Phys. A: Math. Gen. 22 2375-92
[21] Kac V 1976 Adv. Math. 26 8-96
[22] Schennert M 1978 The Theory of Superalgebras (Lecture Notes in Mathematics 716) (New York: Springer)
[23] Hu X B 1990 Integrable systems and related problems Doctoral Dissertation Computing Center of Academia Sinica

